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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 123 16.6 5.1 25 66.4 41.5
1b 121 14.3 5.7 25 57 40.9
2a 173 16.2 5.2 25 64.9 58.5
2b 174 14.4 5.8 25 57.7 58.8
3a 65 8.3 4.7 25 33.3 22
3b 63 9.8 5 25 39.2 21.3
43 135 13.9 6 25 55.6 45.6
4b 138 14.8 5.6 25 59.4 46.6
5a 90 13 5.4 25 51.9 30.4
5b 83 12.7 6 25 50.7 28
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		GENERAL CERTIFICATE OF EDUCATION
























AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation’

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions 25 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by
the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported with
reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question
set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.

© WJEC CBAC Ltd.






Or,
(@ Outline the different cosmological arguments presented by:

0] Aquinas’ First Three Ways
and
(i) the Kalam argument. [AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e Aquinas’ First Way is based on the concept of motion or change. A thing
which is in motion is moving from a state of potentiality towards a state of
actuality. However, that thing in motion has to be brought from a state of
potentiality to a state of actuality by something already in a state of
actuality. Aquinas used the example of wood and fire to illustrate his point.
This actual cause of movement must itself have been moved by
something else from potential into actual. There is no infinite regress
since if there were no first mover there would be no secondary causes.
‘Therefore, it is necessary to stop at some first mover which is moved by
nothing else. And this is what we all understand God to be.’ (Aquinas)

e His Second Way refers to the concept of ‘Efficient Cause’. Cause and
effect are universally observable within the universe. Aquinas reasons
that to remove the cause also removes the effect; however, to remove the
first efficient cause is to remove all others. Alternatively, an infinite regress
of efficient causes would mean no first efficient cause and therefore no
ultimate effect or intermediate efficient causes (i.e. there would be nothing
here now). Aquinas concludes, ‘it is necessary to suppose the existence
of some First Efficient Cause, and this men call God'.

e The Third Way is based upon the concepts of contingency and necessity.
In nature there are things which are possible to be and not to be
(contingent). If this was the case for everything (i.e. contingent) then there
would be nothing today since — as contingency suggests - at some point
there would have been nothing in existence because an infinite regress of
contingent beings is logically impossible. As there is something now, then
this needs an explanation because something cannot arise from nothing.
There must be something which is not contingent that relies upon nothing
for its existence and so has necessary existence. This necessarily
existent ‘being’ which caused all contingency to be, is God.

e The Kalam argument is based on the classical Islamic argument. It is an
‘a posteriori’, inductive argument (with, some say, deductive reasoning),
based upon the view that everything that begins to exist is caused by
something else within time and space.

e The Kalam argument works as follows. Everything that has a beginning
has a cause. The universe began to exist therefore it must have a cause.
This is God. God has to be a self-causing and necessary being that exists
within time and space. The universe was caused at a point in time. That
cause was God; therefore God exists in time — there is no infinite regress.

e The conclusion that the universe came into being as a result of a
deliberate choice by a personal creator is an important part of William
Lane Craig’s argument. As the laws of science did not exist before the
universe did then they cannot be responsible for the creation of the
universe. God is therefore responsible for the existence of the universe.

¢ Craig’s arguments concerning potential and actual infinites may be
presented.

This is not a checklist, please remember to credit any valid alternatives.
7
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(b)

© WJEC CBAC Ltd.

‘Cosmological arguments are effective in proving God’s existence.’
Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
responses should be credited.

¢ Cosmological arguments suffer various objections. One is that cause and
effect may not be linked. This makes an inductive jump which is not
warranted. There is an effect (universe), but we cannot say definitively
what the cause is, even whether there is a cause at all. Also, the
cosmological argument is inductive and so the conclusion may be
possible, even probable but it is not definitive proof.

e There may indeed be a plurality of causes thus the cosmological
argument does not prove the God of classical theism. In this sense any
conclusion based upon a cosmological argument would be ineffective as it
may only prove a beginning to the universe as opposed to the God of
Classical Theism as being the cause.

e Logically the argument makes no sense. If everything needs a cause,
then what is the cause of God? Aquinas would argue that God is a
‘special case’ and the argument regarding causes does not apply to God.
The cosmological argument only applies to contingent things within the
universe.

e The universe could just be a brute fact, something that exists without the
need of an explanation. Cosmological arguments rely on the asking of the
question ‘why?’ there is a universe and ‘how?’ did it come about. If there
is no question to ask, then the cosmological arguments are not needed as
an answer. Though it could be argued that simply avoiding the question is
not a sound form of argument.

e Some, including those using the laws of science would argue that there is
no need for a first mover as things are capable of moving themselves.
Indeed, we of our own volition can choose to move ourselves. However, it
could still be argued that initial movement would not have started without
a Prime Mover.

e The Big Bang can account for the existence of the universe without the
need for reference to God as the first cause. However, many would
suggest that there must be a reason why the Big Bang occurred
suggesting there is still a role for God.

e The concept of infinity is indeed illogical as we cannot add to infinity. The
present moment would not have arrived if infinity were true. There must
therefore have been a starting point.

e Things can only achieve a different state via the intervention of a third
party, the efficient cause. Only that which is in a state of actuality can
effect a change from potentiality to actuality. For example, a person can
only teach Spanish to someone else if that first person can in fact speak
Spanish themselves. Without the intervention of God then the universe
would never have come into being.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

There could have been some contextual information here to make better use of an introduction, such as the a posteriori nature of Aquinas' Three Ways.



 

Sticky Note

There is no requirement to label each premise. This seems to hinder the candidate's flow and expression.  There is also some confusion between Aquinas' first way from motion and second way from cause. There is reference to ideas of moving from potentiality to actuality, however there is no link made to why God is the first cause.



 

Sticky Note

The content here is confused and there is no explanation or illustration of these ideas. For example, why infinite regress is impossible.



 

Sticky Note

William Lane Craig is not identified but the Kalam argument content is 'mainly accurate and relevant.'
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Sticky Note

The material on Aquinas is 'limited' but the material on the Kalam argument demonstrates some depth and is 'mainly accurate and relevant.' Therefore bringing this response into mid Band 3, 13 marks.



 

Sticky Note

The nature of the Kalam argument using a priori reasoning and then moving to inductive logic is correct and 'demonstrates depth in some areas.'



 

Sticky Note

The candidate has linked back to why the cause of the universe must be the God of Classical Theism.



 

Sticky Note

More could have been made here, with for example, inclusion of a reason why they agree with the statement.



 

Sticky Note

Unnecessary AO1 style material and repeating content from question 2a). 



 

Sticky Note

The opportunity to develop this point into analysis or evaluation was missed.
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Sticky Note

Further unnecessary AO1 style material repeated from question 2a).



 

Sticky Note

Potentially a nuanced analysis and relevant evaluation to the question.



 

Sticky Note

Reference to the probability that features in inductive arguments is a relevant issue that has been 'successfully identified', but has not been 'addressed'. 



 

Sticky Note

A relevant point raised 'supported with evidence', However it has not been developed to provide 'effective evaluation'.
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Sticky Note

Another relevant issue raised and identified successfully but not addressed or developed into effective evaluation. For example, the student could have referred to Hume, the value of empirical proof and the problem of inductive leaps. 



 

Sticky Note

There is some 'satisfactory analysis' and  'relevant evaluation' made, however it has not been developed enough to be considered effective' which would warrant Band 4. Therefore it achieved Band 3, 15 marks.
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COMPONENT 2 - An Introduction to the Philosophy of Religion
Part a) of each question tests your knowledge and understanding of religion and belief.

Part b) of each question tests your skills of analysis and evaluation, with regards to aspects of and
approaches to religion and belief.

Section A

Answer one question from this section.

Or,

a) Outline the different cosmological arguments presented by:
(i) Aquinas’ First Three Ways
and

(i) the Kalam argument. [25]

b) ‘Cosmological arguments are effective in proving God’s existence.
Evaluate this view. [25]

© WJEC CBAC Ltd. (B120U20-1)










Write the tWOdlgit question . .. T e R
--number inside the boxes next . e Answer
o theflrstlmeofyouranswer ' T T T R

o Leave

—.

03 | Beres Th  nGhoke 02 [ugeis  ogfwenes

ey bmd B e e 5 e o

. ':_ \,/ o JO{V\QS C%@d t Q}}—QJ [ n%’gﬂb e, m

| Howy Aot @ Ccomot 8V poatly
] boetled. 0\0& Lot o L Sofoaie, |
]P0y o ond yewy  pokoet  Nagee. |

o | W g oy 0 DAl %NP it potwe |
s eyl PW@V Po le Tg),%& _ |
oF  AYNL ‘f(\ Sdf\tﬂ{”oj\mﬁjw \\Uﬁ{ 3
S Thet, 0y PM" Choo Mankioped __?
] fevigons 0% Pl T WS“L 3 Stoes
oo o obout et tle |
M5 b ondley  Od cobise 08 |

T






- Write the two digit question -

 tothefirstine ofyouranswer .

] Y ey 5 wdwod e (b o ||

] e dwtes i g ues med [
N Etm&_ @‘j 26 omiL Uﬂnu@mg)@d od |

- Gbofped, ooy JOkY Change

'L eave

-'number.inside.the bOXeS !’]_EEXE_ - - . g Answer S e S :.::.. . .::..b.l.ahk

R b (0% g bl (et _
lod by fe lmee  tuwwes o Sao TR
Qist BT Steges ok Ol fesed 0 X

| “nojmad, ._.P_W” th v Yt Stge o

_. d@gdw o5 v @w@t Pty Tasm & ond.
5 iy vitke g Gy oniy Lk |
g Wi (o) 0% e Mags, ond, b

1t wd ot e oy e e Slwy |
g Strwc 1o Rare, oty e o Likees, Thn |
St Ul ok doon oy ongsic (ewe [

1 Gd the U Ul a (F%on WW
%@WW PO&S’W, o M m &

| .;igtc;ote - Ob @(‘;&My CQS wnudm JOW% W %J :
T Byt T Srge o |

ot op o0 Mg L g Gflw ||
POe Oty oGPl peSiuib  \lle
6l s fow  gquly  pwe oy odew |

Theg  Sgges  ende Riigoy et CW
Oy s ond, ity ity b
v mwyo’t 039% ithe (\WWW\M\@ GO(\/U%nonc

\Eﬁﬁ% - CkPwrenes fob ogop Sadl oo |

| thn  Glowed  to _bereod Lk gesl, |
et Yme (o0 o% how  elgots  Qpfbrine |
Cooag 6\ Chovg. 1o bonwowr (e R ]

bw% """"(og & g, o OMBt) g ||

Jowmat U wed o Pt e o [
Ths  de wa ek oo oveg s [
1 Tty Soppowed Gy e Amese |

8707






Write the two digit question = -

to the f rst Izne of your answer.

T mawﬁm' B

ol Wew Oy ad by el o
10 e b Cory ‘(3'0 Stop

E R ™ P ey WWM e

B U\W @CW@{’% YW& V.

] ev \(\@UﬁGM ‘QJ“(P?M 'i9 }%
U,%Q/ __ @g ey M‘_ & M

] iy e b g e Oﬂ&Ooc% w T

] S OB Qupanokuld, Lo
Fhis olgieny,  owe by 3

Jlooie e Qe basd gl

[/unw

(F@ﬁm
fom  gotig b e od o Hd [
| Clgtiney, 7 Poth  OF  Uge,  Comllgens QMo

S ngw Wi Sk e O k[
| Coped gy “bd o Somg oftr Sefernalmor
\i()g” (gmn()bwme/ S(Md) f}h\g)___C/S ot Souk

¥
no%Wt

w

] iPove o lues gpwie Fop  Cloe ow

4 o teg  woy, g CPREmel’ tng {\ng

phaf &« o feligs  Qkparene  Show]

S Ok C}QA(@% o lWngwp ok
Ssms  Slom  SOmPhienia o o b

obed S0 G5t P W”M

6
ol

Rods b e legimey g Ww

geoth Bl Sl Woso\bo% to

O beWrith Okl o«»& ohe,

| 0y fwile SOW Gk oo e [
(pvoy

] S W Aoty CWOW CTU
] B by Gl et e

8708

number IHSIdG ihe bOXGS next . ; ;- . : Answer - - ;_' .' . -_':: g . L ._ ) Et_j;::

A






- Write the two digit question -
number ms:de the boxes next

: to the flrst line of your answer

Answer- o

Leave

B ._l_jién_k

1 1o

e s e

1 e gw@ Cand,

1 e Jist
1 bush

e TVQ){%’\;E ” COJ\;GUPQ

ooy e

CGvooge U

g Wﬁ% . &WW
Cn

—____0_8 m% for @W%@ R

o 5%5% B oo (e

Oy Showl

O ot We  over head O fubnog

(it

] Cosdale, occt@ |
4 9  Closty Y bod S
]t G ped

&WW\ ba
v e

Stdors  Ob

ed,  te (Noke
15 X \/\WW&@“

90'
N@S% (\ﬂ@

| ctomfss@fﬁ } ]

WO/ __C?"* b

“6 .

(§ hoh

Gy

be  Clismapd.

by Moy
d}fﬂ{%hf {/Urfptdfv W

WUWQ hiﬂh UVd ............. S€ 1
Al @ef&e

ng& &

Eloh  ckows

Chalgs — plovp

(;woﬂ

it on

W opeed

thibeg  newd

]t oo Ot i

Ao it
begmgt o

chwmgeg

Bevm&%&% ¢

,.. Wty ol

tlms  cganit

 Gubjedie
Rligows %‘@W{ % (o

wowd,  poktn bug

%5 (vorgL

@Mﬁb Whe ch

begh _
o ook |

N

) Wfﬁe

wahfh VoL

fjw 6@“%@ .:.:_
ey Qamy 0

W’t[/l . [A;m

Wy

o m ot hod o N@/

Go

to

Ty Fowd ke

(mtwe Oy

foatty

@k@)v(em/ Pob Q»td(M)

S lgeings oy e Vi

Elog, /o

TP ()

st ||

-






Write the fwo digit question .
‘number inside the boxes next
to the first fine of your answer

Answer

L womd
% &
|
\/Sw\ W be.
1o W owore

1 e Proos
'_ oroUA
) djssp

CoWfoires,

k)\“(o (ol

R  \oelwe

T v |
Dt itk s
Moy RAriong,

] beew 08

06 Ghem,
Hm%\’)l/ SONEOF‘Q/
mhgue

R iﬂﬂ%UNE
| Wealy 08

- th
0‘%@’ b
Ly

o f\*‘WPY\OK oV
| G‘i‘dﬁd \/\k

twwm ase

 on(ion J;
Seomw ._
- Chobongeg

bhis
L()jt(d[

am\m o

o O e

L%@O)Vibﬁ N

ey Wﬂ"ﬁﬂ

s
s
;‘{7 QUWDNWWW N

Whicy
1 ) OW

1 whow e .Poy e,
1 (omoeed g

) @:P%

o

W/qymg

PJ’%@M Ta 9 Ths

(AT
‘v

PiroSomed, &
G Blaodde
Cods  Qtistong — ond [y

) lﬂ
\JBes
0%

- U PWM
0¥
tre 1 oo
Proldy Wk Soby Uf\fi,
Wfﬁt‘% | C‘Nﬂf%ﬁﬁﬁ 2004,
Cﬂnﬂ% '

Ure
s
QL

Willion,  Jong

o Q@m
hyjo0us QxR
~ oloes CW@M{& o
HIG0 APl
b OkPlore  tluoyh
r\%Thf& tlorosore (¢ Migg

4 No

P}ovm& it

to
o, OF

e kaw
e, Q%%C‘c O% 17
COE@,

 Soug
 Chdtion ovvi

Wy

Rwish

vl

\M)UW’X o e B [

Choldges, |

(WVOK Wats O?@ ng (ol

8710

S Dlank

k[
5 e |

W Saet e [ |

@V boups  Ofitw O«AOL
o @ustem






~Write the two digit question . T '
- humber inside the boxes next __: Angw@g‘
to the ﬂrsthne of your answer - R

1 Py Ch@\f\@@d ._whlfj | | [\m’ﬂ (UMWJMWJ UWI/LH Oj\lty

Tivswg s begd o0 lie  leims B |

o MY hawy o vse gy G Swy |
Uheb  Jo8 Wik & ()Om?‘ AU

| 71 e no o omowt Oy redliges- (goie
el oy e o Ee Miﬂ v

CSoly Plow b WUgow  CtRnto¥ done

o Leéve -
D blank

T






		Eduqas AS Philosophy of Religion 2023 Q3 blank.pdf

		B120U20-1 Script G.pdf

		GENERAL CERTIFICATE OF EDUCATION
























AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation’

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions 25 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by
the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported with
reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question
set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.

© WJEC CBAC Ltd.
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Section B

Outline the nature of religious experience with reference to prayer and
conversion. [AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e As St. Teresa is specifically mentioned in the specification candidates may
refer only to her which is perfectly legitimate. They may refer more widely to
the concept of prayer as a communication between an individual and the
divine and credit should be given for reference to other scholars and/or
pertinent points.

e She deemed God'’s grace to be essential in order to assist a person to
perform meaningful prayer. Her metaphors used aspects that people could
relate to, making them easier to understand. She tracks the spiritual progress
of a person from their first attempts at prayer, as a novice, through to those
who through effort and God’s grace have become more competent.

e St. Teresa referred to four stages of prayer using metaphors from gardening.
One metaphor shows God as the one who roots out ‘weeds’ or obstacles
from the soil and plants good plants instead.

¢ Another metaphor shows prayer in four stages by referring to how a garden is
watered. One method is to get water from a well. This does show the active
nature of prayer at this stage. The second method is to use a water wheel.
This stage of prayer brings greater clarity. The third stage is when the water
comes from a stream or a brook. This is Christ’s input. The last stage is when
the garden is watered by heavy rain. This requires no work form humans as
God does it.

e In ‘The Interior Castle’ St. Teresa describes the soul as a diamond in the
shape of a castle. This castle had seven mansions. She shows the progress
of the soul through these seven dwelling places with the intensity increasing
as this happens.

e The fourth mansion is The Prayer of Quiet. This begins the mystical stages.
In this stage faculties are dormant. The fifth mansion is The Prayer of Union.
God has touched the soul and this is assured and certain. The sixth mansion
is spiritual marriage. This represents the longing for the divine as a person
may long to spend all of their time with their spouse. The seventh mansion is
mystical marriage. At this point, an individual has experienced ultimate unity
with the divine. The mystic knows the divine.

e Conversion is the change in direction of a life. Conversion can be individual,
for example St. Paul or communal, for example at Pentecost, the conversion
of the disciples in the Book of Acts. It can involve a change in direction from
theism to atheism, atheism to theism (St. Augustine) or a conversion from
one religious tradition to another.

e There are a variety of component parts to the description of conversion that
candidates could refer to as well as individual and communal. Conversion can
be sudden, an unexpected event that happens ‘out of the blue’. However,
conversion can also be gradual, where a person undergoes almost a ‘drip-
feed’ set of experiences that culminates in conversion.

e The conversion generally brings about a feeling of renewal where the person
may describe a feeling of being ‘born again’ or of becoming a new person.
This conversion may be as a result of their own choice to freely surrender
themselves to the experience. Others describe being ‘taken’ by the
experience where they are completely passive, with the experience
happening to them.

This is not a checklist, please remember to credit any valid alternatives.

9





(b)

© WJEC CBAC Ltd.

‘Challenges to religious experiences prove that they do not really happen.’
Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant responses
should be credited.

Challenges to religious experience may include reference to the lack of
authenticity and the subjectivity of religious experience. Due to the nature of
certain types of religious experience, it may be said that the criteria for truth is
almost impossible to establish. This is because some experiences are deemed to
be subjective and therefore not without dispute with regard to their credibility.
The work of the Vienna Circle and Logical Positivism said that for a statement to
be meaningful (capable of passing on information) it must either be analytic or
synthetic. Many religious experiences are claimed in language that falls into
neither of these categories, so they are meaningless.

However, rejection of the truth of an individual’s religious experience just because
it cannot be verified or falsified is potentially offensive, as it assumes that the
individual’s testimony cannot be trusted. Swinburne’s Principles of Testimony
and/or credulity could be employed here. Indeed, the notion of some religious
experiences contains the concept of them being one-off experiences. Hence
although they cannot be repeated the truth of the experience cannot be denied.
Caroline Franks-Davis outlined three challenges to the objectivity and authenticity
of religious experience. Description-related. There is no proof that the claim that
‘God’ or ‘the Divine’ has been experienced. The description is therefore to be
refuted. Subject-related. The subject is the person who receives the claimed
experience. S/he is considered unreliable. They may suffer from episodes of
hallucinations or from mental illness (described further under ‘naturalistic
explanations.’) Object-related. This relates to the object that the person claims to
have experienced. The likelihood that the object described has indeed been
experienced, is as unlikely as the most unlikely object we can imagine has been
experienced. If someone claimed to have experienced something preposterous,
we would be unlikely to believe her or him. This should also be the case with a
religious experience.

Richard Swinburne’s principles of credulity and testimony may be used to refute
general challenges to the above three challenges to religious experience.
However, religious experiences provide comfort and support to individuals and
groups. Challenges to these experiences do not always take account of the
positive psychological effects that recipients claim. As James would say, this
shows that the experience has produced ‘fruits’ thus suggesting that the
experience did happen and because of this has resulted in a change in a
person’s behaviour.

Many of the challenges only consider an empirical and rational view of the
universe and therefore may be too reductionist to account for an experience
which may come from beyond these spheres of experience.

Religious experiences can increase individual and, sometimes, corporate spiritual
understanding and should therefore not be dismissed out of hand because of the
challenges to them. Alternatively, candidates may consider that the weight of
empirical evidence against religious experiences is so overwhelming that it
ensures that challenges to the truth of religious experience are stronger than
claims in their favour.

The widely reported effects of substance misuse as having very similar effects to
those of individuals claiming religious experiences suggest that the experiences
are not what the individual believes them to be. This could show that the
challenge to the truth of the experience is valid. Scientific processes, such as
those induced by Persinger’s Helmet, demonstrate that religious experiences are
clearly created by reactions in the brain and so support the challenges to the truth
of religious experience as valid.

Overall, candidates should engage with the debate and come to a substantiated
evaluation regarding the issue raised.
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Sticky Note

Whilst relevant with regards to the nature of religious experience this could have been tailored to the specific question by linking to prayer and conversion.
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Sticky Note

The candidate methodically goes through St Teresa of Avila's mansions and types of prayer, linking to mysticism and prayer can culminate in union with God.



 

Sticky Note

The candidate now links back to their introduction and reference to William James' understanding of religious experience. 
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Sticky Note

The responses contains 'accurate and relevant knowledge', demonstrating breadth, and makes 'good use of examples.' Therefore it achieves top of Band 4, 20 marks.



 

Sticky Note

The candidate moves on to conversions and refers to examples to illustrate their points, that conversions are life changing.



 

Sticky Note

No time wasted with AO1 style material or unnecessary description, the responses goes straight into why a scholar would agree that challenges prove religious experiences do not actually happen.



 

Sticky Note

The candidate refers to St Teresa of Avila's religious experiences as a helpful example to support their reasoning, and thoroughly explain the link between the point and example.
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Sticky Note

A further example of the burning bush is used to illustrate their point.



 

Sticky Note

A relevant counter argument made.



 

Sticky Note

A critical and perceptive point made, illustrated with another example.
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Sticky Note

The response successful uses William James' understanding of religious experience to make another critical and perceptive evaluative point.
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Sticky Note

Whilst this response could have incorporated a wider range of evaluative points, the response is 'confident, critical and perceptive', making good use of examples to support the reasoning. Mid Band 5 , 23 marks.
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Section B

Answer one question from this section.

Either,
a) Outline the nature of religious experience with reference to prayer and conversion.
[25]
b) ‘Challenges to religious experiences prove that they do not really happen.’
Evaluate this view. [25]

© WJEC CBAC Ltd. (B120U20-1)
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:
religious, philosophical and/or ethical thought and teaching
influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation’

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions 25 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues raised by
the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported with
reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the question
set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.

© WJEC CBAC Ltd.
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Explain how Irenaean type theodicies offer a solution to the problem of
evil. [AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

Candidates may set the scene by outlining the problem of evil. However,
the focus of the question concerns Irenaean type responses to it and that
is what should be credited.

There may be an explanation of what a theodicy is, the justification of God
in the face of evil. They may refer to this type of theodicy as one of a
‘Free-Will Defence’ type theodicy and emphasise the important point that
God is not to blame for evil and suffering but moral agents are.

Irenaean type theodicies are rooted in the text of Genesis 1:26 ‘Let us
make man in our image, after our likeness’. Such theodicies (e.g. John
Hick) see this verse as representing two separate stages in the creative
process. The first is the initial stage with imperfections, the latter the stage
that will be attained.

It has as its focus the idea of moral and spiritual development of humans
which makes free will a vital part of the theodicy. This free choice will
enable humans to move from God’s image into God’s likeness
(perfection).

Suffering is needed as certain qualities such as compassion and courage
only thrive in the context of suffering. Without suffering these qualities
could not be developed so the world could not work to God’s perfection if
it were any other than as it is.

God made the world imperfectly deliberately so that humans have the
capacity to develop. Otherwise, the world would be a toy world where
choices are not real and the love of God would be forced. This is not true
love.

The theodicy covers both moral and natural evil. Humans were made
imperfectly and so will do that which is wrong. Natural evil is the
necessary consequence of an imperfect world. However, the qualities
generated as a result of these evils helps with the soul-making process.
The world was not designed to be a perfect habitat.

An analogy that Irenaeus used was one of a craftsman. This craftsman
works with people, in willing cooperation in order to achieve future
justification for all of the evil suffered. Both positive and negative
experiences allow God to envisage the perfectly moulded human being.
This theodicy does rely on there being an after-life where all people will
eventually be in the likeness of God. This is because the process will take
longer for some than others and many do not get enough opportunities on
earth for their soul to be ready. It also suggests that this perfected stage
will be afforded to all people in the end.

John Hick’s presentation of an Irenaean type theodicy may be presented
separately or be integrated into the above solutions and his ideas of
epistemic distance and eschatological justification may be explored.

This is not a checklist, please remember to credit any valid alternatives.
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(b)
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‘Augustinian type theodicies successfully defend the God of Classical
Theism.’
Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e Many would claim that Augustinian type theodicies retain the
characteristics of the God of Classical Theism. God is still omnipotent,
omniscient and omnibenevolent.

o However, it could be argued that saying that evil is a privation denies the
reality of evil. Evil is not just the absence of good, but it is a living
presence in the lives of many. It also makes no sense to say that the
perfect world became imperfect. If there is no evil in existence, then how
can bad choices be made?

¢ On scientific grounds Augustine’s theodicy can be rejected. Humans are
not descendants of Adam thus demolishing a major premise of the
theodicy. It may also call into doubt the historicity of The Fall.

e As the majority of humans are destined for hell this suggests that hell was
part of the world that God created. This not only goes against his
suggestion that there was no evil at the origin of the universe, but it also
suggests that God has committed a major design flaw. This then
questions a number of characteristics of the God of Classical Theism. For
example, if God is omniscient then why could God not have foreseen
what humans would do in the future and prevent such actions from taking
place?

e However, the notion that humans must suffer as a punishment for sinning
is an accepted idea in Jewish and Islamic circles and so is in accordance
with major world faiths. Indeed, our expectation that cause and effect as a
system works in our world consolidates the success of the theodicy. This
would be in accordance with the notion of a just God, one who unwillingly
must accept that there are consequences to wrongful deeds.

e |t can free God from blame. Augustine exemplified this by saying that all
humans commit concupiscence (a desire to turn from human to God).
Augustine had thought that sin was a learned attitude which developed as
one got older. He then altered his view to one that believed all humans
were born with inherited sin. The responsibility for sinning becomes
humanity’s due to the sin of Adam in which all are ‘seminally present’.
This then actually removes the problem of evil as it is in no way attributed
to the God of Classical Theism, hence freeing God from any blame.

e Some will say that this theodicy justifies ‘innocent’ suffering as through his
inheritance of guilt doctrine, no one is innocent. However, Rowe and Paul
would argue that innocent and animal sufferings are not justified. Animals
do not inherit Adam’s sin so why do they suffer?

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

The candidate is aware they need to tailor material to question, in explaining how Irenaean type theodicies offer a solution to the problem of evil.



 

Sticky Note

Again linking material to the specific focus of the question.



 

Sticky Note

'Thorough, accurate and relevant knowledge' is demonstrated with reference made to sources and key specialist vocabulary.
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Sticky Note

'Extensive breadth' shown with specific examples to illustrate various key concepts.



 

Sticky Note

The response is not perfect and does not go into depth in all possible areas but it does not need to. In the time permitted and due to the relevance and accuracy of the material selected which is supported with excellent use of examples and sources, is achieves Band 5, 24 marks.
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Sticky Note

The candidate provides parameters for the success of Augustinian type theodicies in their defence of the God of Classical Thesim. 'If the theodicy is accepted literally...'



 

Sticky Note

The responses focuses on the precise question being asked and material is selected and adapted in order to answer the question.



 

Sticky Note

The response does not included irrelevant AO1 description of the biblical origins of the Augustinian theodicy, but goes straight to the point and a critical analysis.
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Sticky Note

There is no need to describe the logical problem of evil as the candidate has developed their point, highlighting the 'logical inconsistency' in Augustinian type theodicies.



 

Sticky Note

The candidate also refers to the challenge which natural evil presents to the God of Classical Theism, demonstrating they are 'thoroughly addressing the issues'.



 

Sticky Note

A confident and critical analysis that demonstrates perceptive evaluation in the time permitted. Full marks, Band 5, 25.
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Section B

Answer one question from this section.

Or,

a) Explain how Irenaean type theodicies offer a solution to the problem of evil.  [25]

b) ‘Augustinian type theodicies successfully defend the God of Classical Theism.’
Evaluate this view. [25]

© WJEC CBAC Ltd. (B120U20-1)



















































































































































































































































































































































































































































































